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1 szt | CNI 15  RI110 ZHEY | 108/5120 108/5/20 108/5/20
2 1088 ¥ 145 B  GPS # PhotoshopCCHl ¥ B < 4% 7/232425(= = ) 09:10-12:00 9 RII6 20 =% 108/5/20 800 108/5/27 1000 108/5/27 800
3 108S Az%%3+  CN2 Scratch#% ;% B (i FF FL (5-6# %) 7/2930,31,8/12(- ~ == 1) 09:10-12:00 15  RI10 = 20 £ #% _ 108/520 2000  108/5/20 2000 108/5/20 2000 [ 5-6E &
iR
4 1088 42782 COl ~ C Pythonfz &2 » ¥ 7/29,8/1,5,8,12,15,19,22,26,29(- =)  14:20-17:10 30  RI16 = 30 ﬂf:: 108/5/20 = 2200 108/5/27 2700 108/5/27 2200
ik

. 108S % oest B & o o — 09:10-12:00 .

Frea s M49 WERE Y oA 7/30,31(= = io0elo 12 RI0G 65z 108/520 1000 108/7/24 2000 108/5/27 1000
6 108S 5 4#yd 4 FHI B AL B Bl iF 8/6,78(= = =) 09:10-12:00 9 RIIO 20 == 108/5/20 800 108/5/27 1000 108/5/27 800
7 108S & »ki @ E M6T PG mERINE AP AR 8/6,7.8(= = =) ?zfég'izf?g 18  RI0O6 65 ##%  108/520 1500 108/7/24 3000 108/5/20 1500
8 108S %448t % FGl = B Lined fi b Bl % i+ 8/6,8,13,15(= =) 14:20-17:100 12 RI10 20 =% 108/5/20 1000 108/5/27 1200 108/5/27 1000
9 108S # sciiiEE M55 TensorFlow Keras 4 1 45 £ [ % 8/12,13(- =) ?zfégjéfi’g 12 R212 40 #msr®  108/5/20 1000 108/5/27 2000 108/5/27 1000
10 108S & »cir &5 M56 X 1A EARLAE - 08 g Ay 8/19,20(- =) ?gf;g'izf?g 12 R212 80 #&sw - 108/5/20 1000 108/5/27 2000 108/5/27 1000
11 108S # »cic i@ ¥  MSI S EE YRR Y 8/23(7) ?zfégjéf?g 6 R212 40 =4z 108/5/20 500 108/5/27 1000 108/5/27 500
12 108S % »ci & M45 £ 28 MW Gaussianff 4 2 F i b * 8/26,27,28(- = =) ?gf;gjifi’g 18  R212 40 #@mmg  108/520 1000 108/5/27 2000 108/5/27 1000
13 108S % »cir i85 M60 VASP#% - BRI 8 i 4 8/29.30( 1) ?zfégjéf?g 12 R212 40  3n44r  108/5/20 1000 108/5/27 2000 108/5/27 1000
14 1088 ~ % g2 = BP8 PowerPoint2016% 74 i * (B | & 57) 8/13,15,2022,27(= = ) 09:10-12:000 15 = R206 . 40 & &» = 108/5/20 0 ] - - -
15 108S = # £u  BEI3 Excel20167~ 4 Ji, * 6/2425262728(- = == 1) 09:10-12:00 15  R206 = 40 % ##»  108/520 1200 108/5/27 1500 108/5/27 1200 Az &
16 108S ¥ 145 ® GP5 B Photoshop CClic i B’ ffi® 2 i * 6/24,7/1,8,1522.29.8/5,12,1926(—- )  18:10-21:00 30  RI10 30 fh4£%  108/520 2200  108/5727 2700 108/5/27 2200 ° B %
17 108S 5 4i#i# % FGI Line#* i b ] 4l i+ 6/252627(= = =) 09:10-12:00 9 RIIO 20 =% 108/5/20 800 108/5/27 1000 108/5/27 800 Azt
18 108S #:t#c48  LOS SPSS 3t A 47 9 ix 6/25,7/2,9,16,23,30(= ) 18:10-21:00 18  RI10 30 fhiast  108/5/20 1400 108/5/27 1800 108/5/27 1400 = @ 3%
19 108S 2%z  CO3 Pythonts & & ¥ 6/26,7/3,10,17,2431,8/7,142128(=) 18:10-21:000 30  RI10 30 %9 108520 = 2200  108/5727 2700 108/5/27 2200 ° B %
20 1088 f2:%2% 2 COl A Pythonfz &3 » P* 6/26,7/3,10,17,2431,8/7,142128(=) 14:20-17:10 30 ~ R212 30 %9  108/520 = 2200  108/5727 2700 108/5/27 2200 ° B %
21 1088 #2:%%2* CP3 B Nodejs# i ~ % 2379 v 6/26,7/3,10,17,24,31,8/7,142128(=) 18:30-21:330 30  RI116 30 4 &  108/520 2200  108/5/27 2700 108/5/27 2200 ° B %
22 108S & »cir @ M20 MATLAB # # 2. X # ¥ 6/27(z) ?zf;g'izf?g 6 R212 40 4R f3 108/520 500 108/5/27 1000 108/5/27 500 AR d
23 108S ¥ 4% B  Gll A [lllustrator CCH MK 2~ & & * 6/28,7/5,12,1926,8/2.9,16,23,30(7 )  14:20-17:10 30  RI10 30 ph4£%  108/520 2200  108/5/27 2700 108/5/27 2200 = B
24 108S ¥/ 4% B  Gll B [Illustrator CC MK 2~ & & * 6/28,7/5,12,1926,8/2,9,16,23,30(Z ) 18:10-21:00 30  RI10 30 ph4£%  108/520 2200  108/5/27 2700 108/5/27 2200 = B %
25 1088 # »ciiiEE  Ml4 MATLAB:& F# 42 2% 2% 3+ (I) 71(-) ?zggjéz?g 6 R212 40 43 108/5720 500 108/5/27 1000 108/5/27 500 Az
26 108S f2:%2* CO3 B Pythonfs E8 ¥ 7/1,8,15,22,29,8/5,12,19,26,9/9(~ ) 18:10-21:00 30  R212 30 =& 9  108/520 2200  108/5/27 2700 108/5/27 2200 : B
27 108S * % a2  BEl4 Excel2016:& 14 4 53 J * 72,45 2 7) ?zfég'ﬁf(;g 15  R212 40 $&z  108/520 1200 108/5/27 1500 108/5/27 1200 Az &
28 108S #/4%H  GP5 A Photoshop CCici~ ¥ f ATz i * 7/8,1522,29.8/5,12,19.26,9/2.9/9(- ) 14:20-17:100 30  RI10 30 ph4e%  108/520 = 2200  108/5/27 2700 108/5/27 2200 = %
29 108S 4z:%% 3>  CN4 LEGO NXT4$ E 4 24z 710,11,12(= = 1) 09:10-12:00 9 R212 10 =% 108/520 2200  108/5/20 2200 108/5/20 2200 AT &
30 108S # cit EE  M63 MATLAB*: § "4l 2R R 8 ¥ ch*  7/8(-) ?zf égjéf(l)g 6 R212 40 4L ##  108/5720 500 108/5/27 1000 108/5/27 500 AR R
31 108S #“zt#ckt LIS SASSLI B8l ~ F* 27 L F 3k 1T 7/8,11,15,18,22.25.29.8/1,6,12(- =)  18:10-21:000 30  RI16 30 £ + 3  108/520 = 2200  108/5727 2700 108/5/27 2200 © Bk
32 108S ZeA A KI2 A 3D5|fd 38 % (D) 7/8,9,10,11,12(- = == 7 ) 09:10-12:00 15 ~ RII0 20 £ %4  108/520 3000  108/5/20 3000 108/5/20 3000 kAR &
33 108S & »ciiEE  M64 4MATLAB} # % T (738 5 2 A 4c8 @ 8 7/9(2) ?zf;g'izf?g 6 R212 40 4 L3 108/5720 500 108/5/27 1000 108/5/27 500 ek
34 108S #z78%2* COl B Pythonfz & 2 » P! 7/9,12,16,19,2326,30,8/2,6,9(= 7)  14:20-17:10 30  RI16 30 +kie/m  108/520 = 2200  108/5/27 2700 108/5/27 2200 = B %
35 108S 4z;z:%3*  CHI CHizi - A A 7/9,12,16,19,23,26,30,8/2,6,9(= 7)  18:10-21:00 30  RI16 30 M 108/520 2200  108/5/27 2700 108/5/27 2200 = B %
36 108S 7'eA A KI2 A 3D7|Erd 38 % wr(Il) 7/15,16,17,1819(- = = 2 7 ) 09:10-12:00 15 ~ RI10 20 £  108/520 3000  108/5/20 3000 108/5/20 3000 AR &
37 108S B »cii @5 M52 EREVZ P PRt 7/17,18,19(= w 7 ) 9:10-16:10 . 18  R212 40 Z &35 - 108/5/20 1500  108/5/20 3000 108/5/20 3000 AR &
38 108S %A 4  KI2 B 3D7|frf B % “r(]) 8/1920212223(- — =2 7 ) 09:10-12:00 15  RI10 20 £  108/520 3000  108/5/20 3000 108/5/20 3000 i
39 108S %A 4 KI2 B 3D7|Frf bR F “r(ll) 8/26,27,282930(- - = = 7 ) 09:10-12:00 15  RI10 20 £  108/520 3000  108/5/20 3000 108/5/20 3000 i
40 108S #272% 2+ CP3 A Nodejs# i #F ~ %4229 it 6/26,7/3,10,17,24,31,8/7,142128(=) 14:20-17:10. 30  RI116 30 4%  108/520 2200  108/5/27 2700 108/5/27 2200 i

or
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